

THE FOURTH POWER MEAN OF TWO-TERM EXPONENTIAL SUMS AND ITS APPLICATION

ZHANG HAN and ZHANG WENPENG

Communicated by Alexandru Zaharescu

The main purpose of this paper is using the analytic methods and a relation between the two-term cubic exponential sums and general Kloosterman sums to study the computational problem of one kind fourth power mean of two-term exponential sums, and give an exact computational formula for it. As an application of our result, we proved an interesting conclusion for the number of zeros of diagonal cubic forms.

AMS 2010 Subject Classification: 11L05.

Key words: two-term exponential sums, Kloosterman sums, fourth power mean, Gauss sums, identity.

1. INTRODUCTION

Let $q \geq 3$ be a positive integer. For any integers m and n , the two-term exponential sum $C(m, n, k; q)$ and general Kloosterman sums $K(m, n; q)$ are defined as follows:

$$C(m, n, k; q) = \sum_{a=1}^q e\left(\frac{ma^k + na}{q}\right),$$

and

$$K(m, n; q) = \sum'_{a=1}^q e\left(\frac{ma + n\bar{a}}{q}\right),$$

where $\sum'_{a=1}^q$ denotes the summation over all $1 \leq a \leq q$ such that $(a, q) = 1$, $e(y) = e^{2\pi i y}$, and \bar{a} denotes the multiplicative inverse of $a \bmod q$, that is, $a \cdot \bar{a} \equiv 1 \bmod q$.

Many authors have studied the various properties of $C(m, n, k; q)$ and $K(m, n; q)$, and obtained a series of results in [2, 3, 5–11] and [13–17]. For example, T. Cochrane and Z. Zheng [6] show for the general sum that

$$|C(m, n, k; q)| \leq k^{\omega(q)} q^{\frac{1}{2}},$$

where $\omega(q)$ denotes the number of all distinct prime divisors of q .

B.J. Birch [2] proved that for $1 \leq R \leq 4$, one has the identities

$$(1) \quad \sum_{a=0}^{p-1} \sum_{b=0}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3 + bx}{p} \right) \right|^{2R} = p^{2R} + \frac{(2R-1)!(p-1)}{(R-1)!(R+1)!} p^R (2p-R+1).$$

W. Zhang [15], J. Li and Y. Liu [13] proved the identity

$$(2) \quad \sum_{m=1}^{p-1} \left| \sum_{a=1}^{p-1} \chi(a) e \left(\frac{ma + n\bar{a}}{p} \right) \right|^4 = \begin{cases} 2p^3 - 3p^2 - 3p - 1, & \text{if } \chi \text{ be the principal character mod } p; \\ 3p^3 - 8p^2, & \text{if } \chi \text{ be the Legendre mod } p; \\ p^2(2p-7), & \text{if } \chi \text{ be a non-real character mod } p, \end{cases}$$

where $(n, p) = 1$.

M. Zhu and D. Han [17] used analytic methods to prove the identity

$$\sum_{m=1}^p \left| \sum_{a=1}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^4 = \begin{cases} 2p^3 - 3p^2 - 3p, & \text{if } 3 \nmid p-1; \\ 2p^3 - 5p^2 - 15p + 4\tau^3(\psi) + 4\tau^3(\bar{\psi}), & \text{if } 3 \mid p-1, \end{cases}$$

where $(n, p) = 1$, ψ be any three order character mod p .

The case $3 \mid p-1$ in Zhu and Han's work is not explicit enough in the sense that it involves characters of order three modulo p .

Recently, W. Zhang and D. Han [16] studied the sixth power mean of the two-term exponential sums and proved that for any prime $p > 3$ with $(3, p-1) = 1$, one has the identity

$$\sum_{a=1}^{p-1} \left| \sum_{n=0}^{p-1} e \left(\frac{n^3 + an}{p} \right) \right|^6 = 5p^4 - 8p^3 - p^2.$$

However, the method used in [16] seems to be unsuitable for the $2k$ -th power mean

$$\sum_{a=1}^{p-1} \left| \sum_{n=0}^{p-1} e \left(\frac{an^3 + n}{p} \right) \right|^{2k}, \text{ for all positive integers } k \geq 2.$$

This paper, as a note of [17], we shall combine the analytic methods, W. Zhang's work [15] and an interesting conversion formula of W. Duke and H. Iwaniec [10] to study this problem, and give an exact computational formula for the fourth power mean. That is, we shall prove the following conclusion.

THEOREM. *Let $p > 3$ be a prime. Then for any integer n with $(n, p) = 1$, we have the identity*

$$\sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^4 = \begin{cases} 2p^3 - p^2, & \text{if } 3 \nmid p-1, \\ 2p^3 - 7p^2, & \text{if } 3 \mid p-1. \end{cases}$$

From this theorem and the work of B.J. Birch [2], we may immediately deduce a conclusion of S. Chowla, J. Cowles and M. Cowles [4]. That is, we have the following.

COROLLARY. *Let M_s be the number of solutions of the equation*

$$X_1^3 + X_2^3 + X_3^3 + \cdots + X_s^3 = 0$$

in the finite field $GF(p)$. For any prime $p \equiv 1 \pmod{3}$, one has the identity

$$M_4 = p^3 + 6(p^2 - p).$$

Some notes: For $k \geq 4$, the fourth moments for $\sum_{n=1}^{p-1} |C(m, n, k; p)|^4$ can

not be calculated exactly by using our method, unless $(k, p-1) = 1$. Since for $k \mid (p-1)$, we can not change the two-term k -th exponential sums $C(m, n, k; p)$ into the general Kloosterman sums. So our method is not applicable. For the same reason, our theorem also can not be generalized to any integer q , unless q is a square-free number. That is, $\mu(q) \neq 0$, where $\mu(n)$ is the Möbius function.

Here we propose the following two interesting open problems:

1. For general integers $h \geq 3$, whether there exists an exact expression for

$$\sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^{2h} ?$$

where p be an odd prime and $(n, p) = 1$.

2. Can the number of solutions to the cubic equation $x_1^3 + x_2^3 + x_3^3 + x_4^3 \equiv b \pmod{p}$ be calculated when $b \neq 0$?

2. SEVERAL LEMMAS

In this section, we will give several lemmas which are necessary in the proof of our theorem. First we have the following:

LEMMA 1. *Let p be an odd prime with $(p-1, 3) = 1$, then we have the identity*

$$\sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^2 = p^2.$$

Proof. Since $(3, p-1) = 1$, so for all integers $1 \leq a, b \leq p-1$, the congruence $a^3 \equiv b^3 \pmod{p}$ holds if and only if $a = b$. Thus, from the trigonometric identity

$$\sum_{m=0}^{p-1} e\left(\frac{nm}{p}\right) = \begin{cases} p, & \text{if } (p, n) = p; \\ 0, & \text{if } (p, n) = 1 \end{cases}$$

we have

$$\begin{aligned} \sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^2 &= \sum_{m=0}^{p-1} \left| \sum_{a=1}^{p-1} e\left(\frac{ma^3 + na}{p}\right) + 1 \right|^2 \\ &= \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{m=0}^{p-1} e\left(\frac{m(a^3 - b^3) + n(a - b)}{p}\right) + \sum_{a=1}^{p-1} \sum_{m=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \\ &\quad + \sum_{b=1}^{p-1} \sum_{m=0}^{p-1} e\left(\frac{-mb^3 - nb}{p}\right) + p \\ &= p \sum_{\substack{a=1 \\ a^3 \equiv b^3 \pmod{p}}}^{p-1} \sum_{b=1}^{p-1} e\left(\frac{n(a - b)}{p}\right) + p = p^2. \end{aligned}$$

This proves Lemma 1. \square

LEMMA 2. Let p be an odd prime with $(p-1, 3) = 1$, and let χ be any non-principal character mod p . Then for any integer n with $(n, p) = 1$, we have the identity

$$\left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^2 \right| = \begin{cases} p^{\frac{3}{2}}, & \text{if } \chi \neq \chi_2; \\ p, & \text{if } \chi = \chi_2, \end{cases}$$

where $\chi_2 = \left(\frac{*}{p}\right)$ denotes the Legendre symbol mod p .

Proof. It is clear that if a pass through a complete residue system mod p and $(n, p) = 1$, then na also pass through a complete residue system mod p . So from this property we have the identity

$$\begin{aligned} \left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^2 \right| &= \left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{m\bar{n}^2 a^3 + a}{p}\right) \right|^2 \right| \\ &= \left| \sum_{m=1}^{p-1} \chi(n^2) \chi(m\bar{n}^2) \left| \sum_{a=0}^{p-1} e\left(\frac{m\bar{n}^2 a^3 + a}{p}\right) \right|^2 \right| = \left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + a}{p}\right) \right|^2 \right|. \end{aligned}$$

Thus, without loss of generality, we can assume $n = 1$. Since χ is a non-principal character mod p and $(3, p-1) = 1$, so χ is not a three order character mod p , from the properties of Gauss sums we have

$$\begin{aligned}
 (3) \quad & \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + a}{p} \right) \right|^2 \\
 &= \sum_{a=0}^{p-1} \sum_{b=0}^{p-1} \sum_{m=1}^{p-1} \chi(m) e \left(\frac{m(a^3 - b^3) + n(a - b)}{p} \right) \\
 &= \tau(\chi) \sum_{a=0}^{p-1} \sum_{b=0}^{p-1} \bar{\chi}(a^3 - b^3) e \left(\frac{a - b}{p} \right) \\
 &= \tau(\chi) \tau(\bar{\chi}^3) + \tau(\chi) \sum_{a=0}^{p-1} \sum_{b=1}^{p-1} \bar{\chi}(a^3 - 1) \bar{\chi}(b^3) e \left(\frac{b(a - 1)}{p} \right) \\
 &= \tau(\chi) \tau(\bar{\chi}^3) + \tau(\chi) \tau(\bar{\chi}^3) \sum_{a=0}^{p-1} \bar{\chi}(a^3 - 1) \chi^3(a - 1) \\
 &= 2\tau(\chi) \tau(\bar{\chi}^3) + \tau(\chi) \tau(\bar{\chi}^3) \sum_{a=2}^{p-1} \bar{\chi}(a^3 - 1) \chi((a - 1)^3) \\
 &= 2\tau(\chi) \tau(\bar{\chi}^3) + \tau(\chi) \tau(\bar{\chi}^3) \sum_{a=1}^{p-2} \bar{\chi}(a^3 + 3a^2 + 3a) \chi(a^3) \\
 &= 2\tau(\chi) \tau(\bar{\chi}^3) + \tau(\chi) \tau(\bar{\chi}^3) \sum_{a=1}^{p-2} \bar{\chi}(3a^2 + 3a + 1) \\
 &= \tau(\chi) \tau(\bar{\chi}^3) \sum_{a=0}^{p-1} \bar{\chi}(3a^2 + 3a + 1) \\
 &= \bar{\chi}(3) \chi(4) \tau(\chi) \tau(\bar{\chi}^3) \sum_{a=0}^{p-1} \bar{\chi}((2a + 1)^2 + 4 \cdot \bar{3} - 1) \\
 &= \bar{\chi}(3) \chi(4) \tau(\chi) \tau(\bar{\chi}^3) \sum_{b=0}^{p-1} \bar{\chi}(b^2 + \bar{3}).
 \end{aligned}$$

On the other hand, if $(c, P) = 1$, then, from Theorem 7.5.4 of [12], we have

$$(4) \quad \sum_{a=0}^{p-1} e \left(\frac{ca^2}{p} \right) = \chi_2(c) \tau(\chi_2).$$

From (4) and the definition and properties of Gauss sums, we have

$$\begin{aligned}
 (5) \quad \sum_{b=0}^{p-1} \bar{\chi}(b^2 + c) &= \frac{1}{\tau(\chi)} \sum_{a=1}^{p-1} \chi(a) \sum_{b=0}^{p-1} e\left(\frac{a(b^2 + c)}{p}\right) \\
 &= \frac{1}{\tau(\chi)} \sum_{a=1}^{p-1} \chi(a) e\left(\frac{ca}{p}\right) \sum_{b=0}^{p-1} e\left(\frac{ab^2}{p}\right) \\
 &= \frac{\tau(\chi_2)}{\tau(\chi)} \sum_{a=1}^{p-1} \chi(a) \chi_2(a) e\left(\frac{ca}{p}\right) = \bar{\chi}(c) \chi_2(c) \cdot \frac{\tau(\chi_2) \tau(\chi \chi_2)}{\tau(\chi)}.
 \end{aligned}$$

Since $|\tau(\chi)| = \sqrt{p}$, by combining (3) and (5), we may deduce the identity

$$\left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^2 \right| = \begin{cases} p^{\frac{3}{2}}, & \text{if } \chi \neq \chi_2; \\ p, & \text{if } \chi = \chi_2. \end{cases}$$

This proves Lemma 2.

LEMMA 3. *Let p be an odd prime with $3|(p-1)$. Then, for any integer a with $(a, p) = 1$ and any three order character ψ , we have the identity*

$$\sum_{n=0}^{p-1} e\left(\frac{an^3 + n}{p}\right) = \sum_{n=1}^{p-1} \psi(n\bar{a}) e\left(\frac{n - 27an}{p}\right).$$

Proof. This is an interesting conversion formula between the two-term cubic exponential sums and Kloosterman sums. Its proof can be found in W. Duke and H. Iwaniec [10] for general conclusion. \square

3. PROOF OF THE THEOREM

In this section, we shall complete the proof of our theorem. First, from the orthogonality of characters mod p , we have

$$(6) \quad \sum_{\chi \bmod p} \left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^2 \right|^2 = (p-1) \sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^4.$$

On the other hand, if $3 \nmid p-1$, then from Lemma 1 and Lemma 2, we also have

$$(7) \quad \sum_{\chi \bmod p} \left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e\left(\frac{ma^3 + na}{p}\right) \right|^2 \right|^2$$

$$\begin{aligned}
&= \left(\sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^2 \right)^2 + \left| \sum_{m=1}^{p-1} \chi_2(m) \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^2 \right|^2 \\
&+ \sum_{\substack{\chi \bmod p \\ \chi \neq \chi_0, \chi_2}} \left| \sum_{m=1}^{p-1} \chi(m) \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^2 \right|^2 \\
&= p^4 + p^2 + (p-3)p^3 = 2p^4 - 3p^3 + p^2 = (p-1)(2p-1)p^2.
\end{aligned}$$

Combining (6) and (7), we can deduce the identity

$$(8) \quad \sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^4 = 2p^3 - p^2.$$

If $3 \nmid p-1$, let ψ be a three order character mod p , then ψ must be a non-real character mod p , from identity (2) and Lemma 3 we have

$$\begin{aligned}
(9) \quad &\sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3 + nx}{p} \right) \right|^4 = \sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3 + x}{p} \right) \right|^4 \\
&= \sum_{a=1}^{p-1} \left| \sum_{x=1}^{p-1} \psi(x\bar{a}) e \left(\frac{x - 27ax}{p} \right) \right|^4 = \sum_{a=1}^{p-1} \left| \sum_{x=1}^{p-1} \psi(x) e \left(\frac{ax + \bar{x}}{p} \right) \right|^4 \\
&= p^2 \cdot (2p-7).
\end{aligned}$$

Now from (8) and (9) we may immediately deduce

$$\sum_{m=1}^{p-1} \left| \sum_{a=0}^{p-1} e \left(\frac{ma^3 + na}{p} \right) \right|^4 = \begin{cases} 2p^3 - p^2, & \text{if } 3 \nmid p-1, \\ 2p^3 - 7p^2, & \text{if } 3 \mid p-1. \end{cases}$$

This completes the proof of our theorem.

Now, we are using formula (1) and our theorem to complete the proof of our corollary. First, taking $R = 2$ in (1), we have

$$\begin{aligned}
(10) \quad &\sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3}{p} \right) \right|^4 + \sum_{b=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{bx}{p} \right) \right|^4 + \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3 + bx}{p} \right) \right|^4 + p^4 \\
&= p^4 + (p-1)(2p-1)p^2.
\end{aligned}$$

For all $1 \leq b \leq p-1$, from the properties of reduced residue system mod p , we have

$$(11) \quad \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3 + bx}{p} \right) \right|^4 = \sum_{b=1}^{p-1} \sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{a(x\bar{b})^3 + b(x\bar{b})}{p} \right) \right|^4$$

$$= \sum_{b=1}^{p-1} \sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{a\bar{b}^3 x^3 + x}{p} \right) \right|^4 = (p-1) \sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3 + x}{p} \right) \right|^4.$$

From the properties of trigonometric sums, we have

$$(12) \quad \sum_{b=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{bx}{p} \right) \right|^4 = 0$$

and

$$(13) \quad \sum_{a=1}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{ax^3}{p} \right) \right|^4 = pM_4 - p^4.$$

Combining (10), (11), (12), (13) and our theorem, we may immediately deduce the identity

$$p^4 + (p-1)(2p-1)p^2 = pM_4 - p^4 + (p-1)(2p^3 - 7p^2) + p^4,$$

or

$$M_4 = p^3 + 6p(p-1).$$

This completes the proof of our corollary. \square

Acknowledgments. This work is supported by the P.S.F. (2013JZ001) and N.S.F. (11371291) of P.R. China and G.I.C.F. (YZZ14004) of NWU. P.R. China. The authors would like to thank the referee for his/her very helpful and detailed comments, which have significantly improved the presentation of this paper.

REFERENCES

- [1] Tom M. Apostol, *Introduction to Analytic Number Theory*. Springer-Verlag, New York, 1976.
- [2] B.J. Birch, *How the number of points of an elliptic curve over a fixed prime field varies*. J. Lond. Math. Soc. **43** (1968), 57–60.
- [3] S. Chowla, *On Kloosterman's sum*. Norkse Vid. Selbsk. Fak. Frondheim **40** (1967), 70–72.
- [4] S. Chowla, J. Cowles and M. Cowles, *On the number of zeros of diagonal cubic forms*. J. Number Theory **9** (1977), 502–506.
- [5] T. Cochrane and Z. Zheng, *Pure and mixed exponential sums*. Acta Arith. **91** (1999), 249–278.
- [6] T. Cochrane and Z. Zheng, *Bounds for certain exponential sums*. Asian J. Math. **4** (2000), 757–774.
- [7] T. Cochrane and Z. Zheng, *Upper bounds on a two-term exponential sums*. Sci. China (Series A). **44** (2001), 1003–1015.
- [8] T. Cochrane and C. Pinner, *A further refinement of Mordell's bound on exponential sums*. Acta Arith. **116** (2005), 35–41.

- [9] T. Cochrane and C. Pinner, *Using Stepanov's method for exponential sums involving rational functions*. J. Number Theory **116** (2006), 270–292.
- [10] W. Duke and H. Iwaniec, *A relation between cubic exponential and Kloosterman sums*. Contemp. Math. **143** (1993), 255–258.
- [11] J. Greene and D. Stanton, *The triPLICATION formula for Gauss sums*. Aequationes Math. **30** (1986), 134–141.
- [12] L.K. Hua, *Introduction to Number Theory*. Science Press, Beijing, 1979.
- [13] L. Jianghua and L. Yanni, *Some new identities involving Gauss sums and general Kloosterman sums*. Acta Math. Sinica (Chin. Ser.) **56** (2013), 413–416.
- [14] A.V. Malyshev, *A generalization of Kloosterman sums and their estimates*. Vestnik Leningrad University **15** (1960), 59–75.
- [15] Zhang Wenpeng, *On the fourth power mean of the general Kloosterman sums*. Indian J. Pure Appl. Math. **35** (2004), 237–242.
- [16] Zhang Wenpeng and Han Di, *On the sixth power mean of the two-term exponential sums*. J. Number Theory **136** (2014), 403–413.
- [17] Zhu Minhui and Han Di, *On the fourth power mean of the two-term exponential sums*. J. Inequal. Appl. **116** (2014).

Received 6 July 2015

*Northwest University,
School of Mathematics,
Xi'an, Shaanxi, P.R. China
micohanzhang@hotmail.com*